*pTY TENINK 07 padaeyd seanjtpusdxe TTe sJesf quenbesqns pue - 9G~GGAT
£L96°T19°9% =~ GS~YS6T €000°TRS 0TS = WS~£G6T f(eamjonaiseayurxe O00°LOC ES sopnToUT) 000°20C‘Ti¢ - £9-2S6T
f000°6TS €2 = 2G~TGHT £o30A eangonayseayul TeTosds syj 03 peSaeyd adem saaniTpusdxe SUTMOTT[OJF Y3 UOTJTPPE UL °*PTV

Tenany o3 oTqeadgeyo oJom UYOTUM (s3o8png OLYN PUR S3S00 8JnjonJIgselJul Jo) nno.muMMM\hd:o quesaadad squUNoOWe 2SOY = ¢

000 0€T £€eseet 996 “4LT 08£°Ese LoLese gsosee 9T %t LTHS6T PTV Ten3Iny T®301
00£°ST oot ™S ot LzY‘s €sLe 9€T ‘e s798png OIVN PUe sJn3ontsetyurl
*
£Le°gz €oLe LY 9%0°TS 068°2¢ oYE‘TL 829" 10T zssesy Sututey], Mex) JITY OLYN
£99°18 6L9°€9 TT9°Lé 786 69T cereest 95766 HE6 L LT G6T 30038 90TAJeg woay jusndinby Jo sasjsued]
oy T80°8 8GLCST 6L0°S2 T8T°¢CE cegee 0g6‘e PTV Tenqny JOF TETJI9YEH JO JUSWOINO0LI
8G=LG6T LG-9%6T 96=956T GG-%G6T H9-€66T £6-2G6T 26=TS6T TS—0%61 sumreJ8odd Jo sjusweTy
seamqTpuedxy eanjTpusdxy edniTpusdxy eanjTpusdxy samitpusdxy eanjrTpusdxy eanqTpusdxy oangTpusdxy

i (sIeTTOg JO Spuesnoyl)
Jea) TeoSTJ] Aq Saumredsodd PTV [engni Uc SaJngTpusdXy

FONFIHA TVNOILVN £0 INTIIUVJIEC

e ¢ & @ * o




